INFIQ GRADE 1 WORKSHEETS

Subtract Up To 20 - Word Problems

Name Date

Solve the following word problems.

R R R AR R R Ry Y

Asports store had 19 basketballs. 9 balls were unusable and thrown away.

" How many basketballs does the store still have?
basketballs
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Colton has 11 t-shirts in his wardrobe. How many t-shirts will be left in his

wardrobe after he sends 6 t-shirts for laundry? %

t-shirts

.
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There are 12 macaroons in a tin. 4 macaroons are found broken. How
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. many unbroken macaroons are there in the tin? '
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Macaroons
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. There are 7 pigs on a farm. The farmer sells 3 of them. How many pigs are
. left on the farm? o
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